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1. vEyh; o"kkZ fdl xSl ds çnw"k.k ds dkj.k gksrh gS& 
  
 A. lYQj Mk;vkWDlkbM vkSj 

ukbVªkstu vkDlkbM 
B. lYQj Mk;vkWDlkbM vkSj 

dkcZu vkDlkbM 
 C. dkcZu Mk;vkWDlkbM vkSj 

ukbVªkstu vkDlkbM 
D. vkstksu 

     
 Acid rain is the result of pollution by which gases- 
  
 A. Sulphur dioxide and 

Nitrogen oxides 
B. Sulphur dioxide and carbon 

dioxide 
 C. Carbon monoxide and 

nitrogen oxides 
D. Ozone 

     
2. LokLF; Lrj dk fuEu esa ls dkSu lk ladsr ugha gS&  
  
 A. f’k’kq e`R;q ,oa ekrR̀o e`R;q 

nj 
B. thou thus dh vkSlr vk;q 

 C. tUe nj ,oa eR̀;q nj  D. lk{kjrk dh çfr’kr 
     
 Which of the following is NOT an indicator of the health status of the country- 
  
 A. Mother and child 

mortality rate 
B. Average life expectancy 

 C. Mortality and birth rate D. Percentage of literacy 
     

3. Hkkjr esa xSj okf.kfT;d ÅtkZ ds lzksr D;k gSa& 
  
 A. dks;yk B. rsy vkSj xSl 
 C. fctyh D. xk; HkSal dk xkscj 
     
 Which of the following is a non commercial source of energy- 
  
 A. Coal B. Oil and gas 
 C. Electricity D. Cow dung 
     

4. eSaMyhQ }kjk izLrkfor ihfjvksfMd rkfydk jklk;fud rRoksa esa lEcU/k fdl vk/kkj ij n’kkZrh gS& 
  
 A. ,Vksfed uEcj B. ,Vksfed Hkkj 
 C. [kkst dk le; D. ekuo ds fy, mi;ksxh 
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 The Periodic table given by Mendleef shows the relationship of elements on the basis of – 
  
 A. Atomic number B. Atomic weight 
 C. Time of Discovery D. Usefulness to mankind 
     

5. gSUd dSVpe }kjk jpk x;k dkVwZuksa esa 'kSrku cPps dk uke D;k gS& 
  
 A. MSful B. pkyhZ czkmu 
 C. Vkbxj D. dSfYou 
     
 What is the name of the naughty child in the cartoons created by Hank Ketcham- 
 A. Dennis B. Charlie Brown 
 C. Tiger D. Kelvin 
     

6. dkSu ls eqxy lezkV us vius thou ds vafre fnu vkxjk ds fdys esa canh ds :i esa O;rhr fd,& 
  
 A. tgk¡xhj B. 'kkgtgk¡ 
 C. vdcj D. vkSjaxtsc 
     
 Which Moghul Emperor spent his last days as a prisoner in Agra Fort- 
  
 A. Jehangir B. Shahjehan 
 C. Akbar D. Aurangzeb 
     

7. HkwdEi dks fdl Ldsy ij ukik tkrk gS& 
  
 A. lsUVhxzsM B. QSjugkbV 
 C. fjdVj D. QSjkMs 
     
 Earthquakes are measured in which scale- 
  
 A. Centigrade B. Farenheit 
 C. Richter D. Faraday 

8. iUxfou dgk¡ ik, tkrs gSa& 
  
 A. vkdfVZd B. ,UVvkdfVZd 
 C. vÝhdk D. vkLVªsfy;k 
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 Penguins are found in – 
  
 A. Arctic B. Antarctic 
 C. Africa D. Australia 
     

9. ejs tkuojksa ds 'kjhj esa tek fo"kkDr nokb;ksa ds dkj.k fdl i{kh ds foyqIr gksus dk [krjk gS& 
  
 A. fx) B. rksrk 

 C. cqycqy D. dcwrj 
     
 Which bird is endangered due to the presence of toxic medicines in the carcasses of dead   

animals-  
  
 A. Vulture B. Parrot 
 C. Bulbul D. Pigeon 
     

10. dkSu ls [ksy esa f[kykM+h ?kksM+s ij cSBdj ,d xsan dks yEch fLVd ls ekjrs gSa& 
  
 A. okWyhckWy B. fØdsV 
 C. xksYQ D. iksyks 
     
 In which game the players sit on horses and chase a ball with a long stick ? 
  
 A. Volley ball B. Cricket 
 C. Golf D. Polo 
     

11. fuEu J̀a[kyk dks iwjk dfj,& 
1, 5, 14, 30, 55, …?…. 

 A. 25 B. 91 
 C. 89 D. 85 
 
 

    

 Choose the correct option to complete the following series 

1, 5, 14, 30, 55, …?…. 
  
 A. 25 B. 91 
 C. 89 D. 85 
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12. vQxkfuLrku dh jkt/kkuh gS& 
  
 A. jkse B. ekLdks 
 C. ,FksUl D. dkcqy 
     
 The capital of Afganistan is – 
  
 A. Rome B. Moscow 
 C. Athens D. Kabul 
     

13. dkSu lk tUrq ty rFkk Fky nsuksa esa jg ldrk gS& 
  
 A. esa<d B. rksrk 
 C. frryh D. Å¡V 
     
 Which animal can live on land and water both- 
  
 A. Frog B. Parrot 
 C. Butterfly D. Camel 
     

14. vk;ru dh bdkbZ gS& 
  
 A. oksYV B. ,Eih;j 
 C. yhVj D. fdyksxzke 
     
 The unit of volume is ?  
  
 A. Volt B. Ampere 
 C. Litre D. Kilogram 
     

15. fuEu esa ls fdl [ksy dks dksVZ esa [ksyk tkrk gS& 
  
 A. fØdsV B. eqDdsckth 
 C. LdsfVax D. Vsful 
     
 Which of the following games is played in a court ? 
  
 A. Cricket B. Boxing 
 C. Skating D. Tennis 
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16. iF̀oh ls /kkrq dk [kuu fdl :i esa fd;k tkrk gS& 
  
 A. v;Ld B. 'kq) ?kkrq 
 C. fi?kyh ?kkrq D. xSl 
     
 Metals are mined from the earth In which form ?  
  
 A. Ore  B. Pure Metal 
 C. Molten Metal D. Gas 
     

17. foKku dh 'kk[kk ftl esa dhVksa dk v/;;u fd;k tkrk gS dgykrh gS& 
  
 A. ,UVkseksykWth B. vkfuZFkksykWth 
 C. ,UFkzksiksykWth D. isysUVksykWth 
     
 The branch of science in which insects are studied is known as ?  
  
 A. Entomology B. Ornithology 
 C. Anthropology D. Paleontology 
     

18. fuEu dks iwjk djus ds fy, lgh 'kCn dk p;u dhft;s & v[kckj % izsl %% diM+k : ……..? 
  
 A. fey B. Qkbcj 
 C. nthZ D. c<+bZ 
     
 Complete the following choosing the correct word: 

Newspaper : press :: cloth : ……..? 
  
 A. Mill B. Fibre 
 C. Tailor D. Carpenter 
     

19. VkbZQkbM jksx fdl ds dkj.k gksrk gS& 
  
 A. lkYeksusyk B. gStk ds cSDVhfj;k 
 C. vkar ds ijthfo;ksa ds 

dkj.k 
D. izksVkstksvk 

     
 Typhoid is caused due to ?  
 A. Salmonella B. Bacteria of Cholera 
 C. Intestinal parasites D. Protozoa 
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20. FkekZehVj ls D;k ukik tkrk gS& 
  
 A. ÅtkZ B. Å"ek 
 C. fofdj.k D. rkieku 
     
 Thermometer is used to measure? 
  
 A. Energy B. Heat 
 C. Radiation D. Temperature 
     

21. gokbZ tgkt dks j[kus ds LFkku dks D;k dgrs gSa& 
  
 A. xSjkt B. gSUxj 
 C. cUnjxkg D. gokb ?kj  
     
 Aeroplanes are parked in? 
  
 A. Garage B. Port 
 C. Hangar D. Hawai ghar 
     

22. ;su fdl ns’k dh eqnzk gS& 
  
 A. phu B. tkiku 
 C. rqdhZ D. ikfdLrku 
     
 Yen is the currency of? 
  
 A. China B. Japan 
 C. Turkey D. Pakistan 
     

23. vk;ZHkV~~V izkphu Hkkjr ds D;k Fks& 
  
 A. fpfdRld B. xf.krK 
 C. fp=dkj D. ewfrZdkj 
     
 In ancient India, who was Ayrabhatta? 
  
 A. Physician B. Mathematician 
 C. Painter D. Sculptor 
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24. esfuutkbfVl fdl vad dk jksx gS& 
  
 A. efLr"d B. ;Ñr 
 C. oD̀d D. NksVh vkar 
     
 Which organ is affected by the disease Meningitis? 
  
 A. Brain B. Liver 
 C. Kidney D. Small intestine 
     

25. Ikk;fj;k fdl vax dk jksx gS& 
  
 A. vk[ksa B. nkar 
 C. dku D. Ropk 
     
 Pyorrhea affects which organ?  
  
 A. Eyes B. Teeth 
 C. Ears D. Skin 
     

26. 'kj.kkxr 'kCn dk f}rh; in gS& 
  
 A. vkxr B. xr 
 C. 'kj.kkxr D. 'kj.k 
     

27. fxfj/kj 'kCn esa dkSu lk lekl gS& 
  
 A. }Un lekl B. rRiq#"k lekl 
 C. f}xq D. cgqczhfg lekl 
     

28. tUek"Veh lekjksg esa dbZ lTtu yksx i/kkjs& okD; esa vuko’;d 'kCn gSa& 
  
 A. i/kkjs B. yksx 
 C. tUek"Veh D. lekjksg 
     

29. buesa ls fdl eqgkojs dk vFkZ gS] /kks[kk nsuk& 
  
 A. vk¡[ksa yky ihyh djuk B. vk¡[k pqjkuk 
 C. vk¡[ksa pkj djuk D. vk¡[kksa esa /kwy >ksadukA 
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30. fuEufyf[kr esa ls yksdksfDr dkSu lh gS& 
  
 A. dej dluk B. pkj fnu dh pkanuh] fQj 

va/ksjh jkr 
 C. ukS nks X;kjg gksuk  D. ikSa ckjg gksukA 
     

31. fuEu esa ls 'kq) okD; dkSu lk gS& 
  
 A. HkkbZ cgu [ksy jgs gSaA B. Hkkb cgu [ksy jgh gSA 
 C. HkkbZ cgu [ksy jgk gSSA D. HkkbZ cgu nksuksa [ksy jgk gSA 
     

32. bu esa 'kq) okD; dkSu lk gS& 
  
 A. gfjflag xkSj vPNk 

vkneh FkkA 
B. gfjflag xkSj vPNk vkneh 

FksA 
 C. gfjflag xkSj vPNs vkneh 

FkkA 
D. gfjflag xkSj vPNh vkneh 

FksA 
     

33. lgh okD; dk p;u dhft,&  
  
 A. esjk uke ujsUnz dqekj Jh 

gSA 
B. esjk uke Jh ujsUnz dqekj gSA 

 C. esjk Jh uke ujsUnz dqekj 
gSA 

D. esjk uke ujsUnz dqekj gSA 

     
34. foijhrkFkhZ 'kCn& 

  
 A. lkQ lqFkjk B. vkuk&tkuk 
 C. cky&cPps D. cM+s&cw<+s 
     

35. lkFkZd&fujFkZd 'kCn ;qXe dk p;u dhft,&  
  
 A. vkuk&tkuk B. pk;&ok; 
 C. lq[k&nq[k D. cM+s&cw<+s 
     

36. LVsV cSad vkWQ bafM;k dk izpkj okD; gS& 
 A. Pure banking nothing 

else  
B. The name you can bank 

upon 
 C. Where Service is a way 

of life 
D. A Friend you can bank 

upon 
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 The slogans of State Bank of India are ?  
  
 A. Pure banking nothing 

else 
B. The name you can bank 

upon 
 C. Where service is a way of 

life 
D. A friend you can bank upon 

     
37. gky gh esa fdl jkT; esa fo’o dk lcls cM+k ^^lkSj ÅtkZ ikdZ** LFkkfir fd;k x;k& 

  
 A. vksM+hlk B. e/;izns’k 
 C. jktLFkku  D. dukZVd 
     
 In which state the world’s largest solar energy park has recently been established ?  
 A. Odisha B. Madhya Pradesh 
 C. Rajasthan D. Karnataka 
     

38. ,d pkyd dk çfrjks/k fuHkZj djrk gS& 
  
 A. mldh yEckbZ ij B. mlds vuqizLFk dkV {ks=Qy 

ij 
 C. mlds rki ij D. fn, x;s lHkh fodYiksa ij 
     
 The resistance of a conductor depends on ?  
 A. Its length B. Its area of cross section 
 C. Its temperature D. All of the above 
     

39. fuEu esa ls dkSu lh /kkrq vkWDlkbM mHk;/kehZ izÑfr dh gS& 
  
 A. lksfM;e B. pk¡nh 
 C. ,Y;qehfu;e D. dSfY’k;e 
     
 Which of the following metals yields an amphoteric oxide ? 
  
 A. Sodium B. Sliver 
 C. Aluminum D. Calcium 
     

40. fuEu esa ls dkSu ,slk vkHkklh çfrfcEc cukrk gS tks ges’kk oLrq ls NksVk gks& 
  
 A. lery niZ.k B. mRry ySal 
 C. vory ySal D. vory niZ.k 
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 Which of the following always forms a virtual image smaller than the object ?  
 A. Plain mirror B. Convex lens 
 C. Concave lens D. Concave mirror 
     

41. çdk’k dks mlds ?kVd jaxksa ds foHkktu dks dgrs gSa& 
  
 A. ijkorZu B. viorZu 
 C. fo{ksi.k D. /kzqohdj.k 
     
 The separation of light into its component colors is called ?  
  
 A. Reflection B. Refraction 
 C. Dispersion D. Polarization 
     

42. ;fn ,d oLrq ,d vory niZ.k ls vuUr nwjh ij gS rks mlls cuus okys çfrfcEc dh fLFkfr 
gksxh& 

  
 A. niZ.k ds Qksdl ij B. niZ.k ds oØrk dsUnz ij 
 C. vuUr ij D. niZ.k ds ihNs 
     
 If an object is placed at infinity from the concave mirror, the image will be formed at? 
  
 A. Focus of the mirror B. Centre of curvature of the 

mirror 
 C. Infinity D. Behind the mirror 
     

43. Ekkuo us= ds fdl vo;o ij fdlh oLrq izfrfcEc curk gS& 
  
 A. dkfuZ;k ij B. ifjrkfjdk ¼vkbZjl½ ij 
 C. nf̀"ViVy ij D. iqryh ij 
     
 In which component of the human eye the image of any object is formed on ? 
 A. Cornea B. Iris 
 C. Retina D. Pupil 
     

44. fuEufyf[kr esa ls dkSu lk lewg js’ks okyh Qlyksa ls lEcfU/kr gS& 
  
 A. twV, puk, vylh B. elwj, dikl, twV 
 C. dikl, twV, lu D. twV, xsgw¡ , dikl 
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 Which of the following groups contains all fiber crops ?  
  
 A. Jute, Gram, Linseed B. Masoor, Cotton, Jute 
 C. Cotton, Jute, Hemp D. Jute, Wheat, Cotton 
     

45. leqnz ds Hkhrj ikbZ tkus okyh lcls xgjh [kkbZ esfj;kuk VsªUp dgk¡ fLFkr gS& 
  
 A. ç’kkUr egklkxj B. vVykafVd egklkxj 
 C. fgUn egklkxj D. vkdZfVd egklkxj 
     
 Marianna Trench is located in ? 
  
 A. Pacific Ocean B. Atlantic Ocean 
 C. Indian Ocean D. Arctic Ocean 
     

46. fdl ;U= dk HkwdEi rjaxksa ds ekiu ds fy, iz;ksx fd;k tkrk gS& 
  
 A. flLeksxzke B. flLeksxzkQ 
 C. flLeksLdksi D. flLeksehVj 
     
 Which of the following is used to measure earthquakes ? 
  
 A. Seismogram B. Seismograph 
 C. Seismoscope D. Seismometer 
     

47. Hkkjr dh fuEufyf[kr ioZr Jsf.k;ksa esa ls dkSu lh lcls iqjkuh gS& 
 A. vjkoyh B. fgeky; 
 C. lriqM+k D. uhyfxfj 
     
 Which of the following mountain range of India is the oldest ? 
 A. Aravalli B. Himalaya 
 C. Satpura D. Nilgiri 
     

48. fdl ds 'kkludky esa esxkLFkuht Hkkjr vk;k& 
  
 A. v’kksd B. g"kZo/kZu 
 C. pUnzxqIr ekS;Z D. dqekj xqIr 
 
 

    

     



EXAMINATION FOR STORE KEEPER, DATE – 3TH FEBRUARY, 2019  

 

INSTITUTE OF FOREST PRODUCTIVITY, RANCHI (JHARKHAND) - 835303 Page 12 

 

 Megasthenes came to India during the reign of ? 
 A. Ashoka B. Harshvardhana 
 C. Chandragupta Maurya D. Kumar Gupta 
     

49. yo.k izHkkfor eǹk dk lokZf/kd {ks=Qy okyk jkT; gS& 
  
 A. rfeyukMw B. jktLFkku 
 C. xqtjkr D. vkU/kzizns’k 
     
 Which of the following states has the largest area of soils of high salt content ? 
  
 A. Tamil Nadu B. Rajasthan 
 C. Gujarat D. Andhra Pradesh 
     

50. vUrjkZ"Vªh; efgyk fnol dc euk;k tkrk gS& 
  
 A. 22 vizSy B. 8 ekpZ 
 C. 30 twu D. 4 Qjojh 
     
 International Women’s Day is celebrated on ? 
  
 A. 22nd April B. 8th March 
 C. 30th June D. 4th February 
     

51. fuEufyf[kr esa ls dkSulk 'kCn rRiq#"k lekl dk mnkgj.k gS& 
  
 A. gfj’kadj B. jktiq= 
 C. ihrkEcj D. jkr&fnu 
     

52. Å¡V ds eq¡g esa thjk& bl yksdksfDr dk lgh vFkZ pqfu,&  
  
 A. chekjh dh nok B. Lokn c<+kus dk mik; 
 C. pky c<+kus dk ladsr D. cgqr de ek=k esa viwfrZ 
     

53. fuEu esa ls D;k e/kqesg dk y{k.k ugha gS& 
  
 A. ikWyh;wfj;k B. gkbijXykblhfe;k 
  C. ikWyhQsft;k D. gkbiksXykbZlhfe;k 
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 Which of the following is not a symptom of diabetes ?  
 A. Polyuria B. Hyperglycemia 
 C. Polyphagia D. Hypoglycemia 
     

54.  fdl ds mRiknu esa [kehjhdj.k dk iz;ksx gksrk gS& 
  
 A. tSe B. vpkj 
 C. 'kjcr D. bMyh 
     
 Which of the following is made by fermentation ? 
 A. Jam B. Pickles 
 C. Syrup D. Idli 
     

55. iksVsf’k;e ijeSXusV ds ç;ksx ds ckn Hkwjs /kCcs NqVkus ds fy, fdldk vf/kdre mi;ksx fd;k tkrk 
gS& 

 A. ued B. pwuk 
 C. ,flfVd vEy D. vkWDlkWfyd vEy 
     
 Which of the following is used to remove brown stains left by use of potassium permanganate ? 
 A. Salt B. Lime 
 C. Acetic Acid D. Oxalic Acid 
     

56. fuEu esa ls D;k Hkxor~ xhrk dh izeq[k f’k{kk gS& 
  
 A. deZ;ksx B. Kku;ksx 
 C. HkfDr ;ksx D. fu"dke deZ;ksx 
     
 Which one of the following is a major teaching of Bhagwat Gita ?  
  
 A. Karma yoga B. Gyan Yoga 
 C. Bhakti Yoga D. Nishkama Karma Yoga 
     

57. fuEufyf[kr esa ls dkSulk foVkfeu ;qXe izfrvkWDlhdkjd dh rjg dk;Z djrk gS& 
  
 A. foVkfeu ^,* rFkk 

foVkfeu ^lh* 
B. foVkfeu ^lh* rFkk foVkfeu 

^b* 
     
 C. foVkfeu ^ch2* rFkk 

foVkfeu ^Mh* 
D. foVkfeu ^b* rFkk foVkfeu 

^ds* 
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 Which of the following vitamin pairs works as an antioxidant ? 
 A. Vitamin A and Vitamin C B. Vitamin C and Vitamin E 
 C. Vitamin B2 and Vitamin D D. Vitamin E and Vitamin K 
     

58. fuEufyf[kr esa ls lcls vf/kd fodflr dkSu ls izk.kh gS& 
  
 A. mHk;pj B. eRL; 
 C. ljhl̀Ik D. i{kh 
     
 Which of the following animals are the most evolved ? 
 A. Amphibians B. Fishes 
 C. Reptiles D. Birds 
     

59. fuEufyf[kr esa ls dkSu vius in dh 'kiFk ugha ysrk& 
  
 A. jk"Vªifr B. mijk"Vªifr 
 C. Lihdj D. iz/kkuea=h 
     
 Which of the following does not take oath of office ? 
 A. President B. Vice President 
 C. Speaker D. Prime Minister 
     

60. dsUnz ljdkj ds xSj&;kstukxr O;; ds vUrxZr lcls cM+k en D;k gS& 
  
 A. j{kk B. lfClMh 
 C. C;kt Hkqxrku D. isU’ku 
     
 Which is the largest non-planned expenditure of Central Government? 
 A. Defence B. Subsidy 
 C. Payment of Interest D. Pension 
     

61. Complete the sentence "Man has reached  ____ moon".  
 A. a B. the 
 C. this D. that 
     

62. The child is playing with a red ball. 
In the sentence the word  Red is ?  

 A. Noun B. Verb 
 C. Adverb D. Adjective 
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63. She was walking slowly. In the sentence the word  Walking is ?  

 A. Verb B. Noun 
 C. Pronoun D. Adverb 
     

64. He stole the book. In the sentence the word He is ?  
 A. Noun B. Pronoun 
 C. Verb D. Adjective 
     

65. The car is red. 
The is ?  

 A. Noun B. Pronoun 
 C. Adjective D. Article 
     

66. The child and his mother were coming. 
And is ?  

 A. Pronoun B. Noun 
 C. Verb D. Conjunction 
     

67. Hari is a small boy. 
Hari is ?  

 A. Common Noun B. Proper Noun 
 C. Collective Noun D. Abstract Noun 
     

68. ,d Vªsu 250 ehVj yEch gS Vªsu jsyosykbu ds ikl ds ,d o{̀k dks 50 lsds.M esa ikj dj ysrh gS 
rks mldh xfr D;k gksxh& 

  
 A. 18 K mph B. 5 K mph 
 C. 9 K mph D. 10 K mph 
     
 A train is 250 m long. If that train takes 50 secs to cross a tree by the railway line, the speed of the 

train in Kmph is ? 
 A. 18 K mph B. 5 K mph 
 C. 9 K mph D. 10 K mph 
     

69. fuEu J̀a[kyk esa ls xyr uEcj NkafV,& 
40960] 10240] 2560] 640] 200] 40] 10 

 A. 2560 B. 200 
 C. 40 D. 640 
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 Find out the wrong number in the sequence: 
40960, 10240, 2560, 640, 200, 40, 10 

  
 A. 2560 B. 200 
 C. 40 D. 640 
     

70. ijLij yEcor~ lh/kh vkSj vkM+h js[kkvksa dh tkyh dks D;k dgsaxs& 
  
 A. v{kka’k js[kk,¡ B. ns’kkUrj js[kk,¡ 
 C. HkkSxksfyd funsZ’kd D. fxzM flLVe 
     
 Network of a series of vertical and horizontal lines constructed perpendicular to each other is 

known as ? 
 A. Longitudes B. Latitudes 
 C. Geographic coordinates D. Grid system 
     

71. fuEu esa ls dkSu lk jkT; rkykcksa ls flapkbZ ds fy, izfl) gS& 
  
 A. rfeyukMw B. vle 
 C. xqtjkr D. mM+hlk 
     
 Which of the following states is famous for irrigation using man-made tanks ? 
 A. Tamil Nadu B. Assam 
 C. Gujarat D. Odisha 
     

72. Hkksiky xSl =klnh fdl xSl ds dkj.k gqbZ Fkh& 
  
 A. fQukby vkblkslkbusV B. ,lsfVyhu 
 C. bFkkbZyhu D. feFkkby vkblkslkbusV 
     
 Bhopal gas tragedy was due to the leakage of which gas ?  
  
 A. Phenyl Isocyanate B. Acetylene 
 C. Ethylene D. Methyl Isocyanate 
     

73. Ukhyh ØkfUr ¼Cyw jksoksY;w’ku½ fdl ls lEcfU/kr gS& 
  
 A. eRL; m|ksx B. varfj{k 'kks/k 
 C. eqxhZ ikyu m|ksx D. Ukhys jax dk izpyu 
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 The Blue Revolution is related to ? 
 A. Fisheries B. Space Research 
 C. Poultry D. Fashion of blue colour 
     

74. vkstksu dh ijr fdl ls gekjh j{kk djrh gS& 
  
 A. çdk’k fdj.ksa B. ijkcSxuh fdj.ksa 
 C. dkWfLed fdj.ksa D. bUÝkjsM fdj.ksa 
     
 The ozone layer protects us from ?  
 A. Visible Rays B. Ultra Violet Rays 
 C. Cosmic Rays D. Infra Red Rays 
     

75. 2014 dh ukscy 'kkfUr iqjLdkj fdls feyk Fkk& 
  
 A. cjkd vksckek B. dSyk’k lR;kFkhZ rFkk eykyk 

;wlQtkbZ 
 C. enj Vsjslk D. ekfVZu ywFkj fdax 
     
 The Nobel Peace Prize for 2014 was awarded to ?  
 A. Barack Obama B. Kailash Satyarthi& Malala 

Yousafzai 
 C. Mother Teresa D. Martin Luther King 
     

76. esjklel jksx fdl dh deh ls gksrk gS& 
  
 A. dSyksjh B. Dyksjhu 
 C. QklQksjl D. lksfM;e 
     
 The disease Marasmus occurs due to the deficiency of ?  
 A. Calories B. Chlorine 
 C. Phosphorous D. Sodium 
     

77. यǑद एक घड़ȣ को इस Ĥकार स ेरखा जाये Ǒक 12:00 बजे िमनट का काँटा पवूȾƣर कȧ तरफ हो तो 
दोपहर 1:30 बजे घड़ȣ का घंटे का काटँा Ǒकस Ǒदशा कȧ और होगा ? 

  
 A. if’pe B. iwoZ 
 C. nf{k.k iwoZ D. nf{k.k 
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 If a watch is kept in such a manner that at 12:00 the minute hand points at North – East then what 
direction will the hour-hand point at 1:30PM ? 

 A. West B. East 
 C. South East D. South 
     

78. ^xYQ LVªhe* D;k gS& 
  
 A. ;w-,-bZ- ¼ UAE½ esa ,d 

unh 
B. varfj{k esa gok dh rjaxsa 

 C. jsfxLrku esa unh  D. leqnz ds e/; rst çokg 
     
 “Gulf Stream” is ?  
 A. A river in UAE B. Waves of air in space 
 C. River in the desert D. Fast oceanic currents 
     

79. Lkkfu;k fetkZ fdl [ksy ls lEcfU/kr gS& 
  
 A. cSMfeUVu B. xksYQ 
 C. QqVckWy D. Vsful 
     
 Sania Mirza relates to which game ?  
 A. Badminton B. Golf 
 C. Football D. Tennis 
     

80. ^naxy fQYe* fdl [ksy ds ckjs esa gS& 
  
 A. cSMfeaVu B. dq’rh 
 C. rSjkdh D. QqVckWy 
     
 Dangal film is about ?  
 A. Badminton B. Wrestling 
 C. Swimming D. Football 
     

81. fuEu esa ls fdl ds 'kjhj ij /kkfj;k¡ gksrh gSa& 
  
 A. cCcj 'ksj B. ck?k ¼Vkbxj½ 
 C. tkxqvkj D. phrk 
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 Which of the following has stripes on its body ?  
 A. Lion B. Tiger 
 C. Jaguar D. Cheetah 
     

82. dslj dkSu ls Qwy ls izkIr gksrk gS& 
  
 A. xqykc B. xsank 
 C. pesyh D. Øksdl 
     
 Saffron is obtained from which flower ?  
 A. Rose B. Marigold 
 C. Jasmine D. Crocus 
     

83. Hkkjr dh çFke vuqokaf’kd :i ls ifjofrZr Qly dkSu lh gS& 
  
 A. ch-Vh- dkWVu B. ch-Vh- fczaty 
 C. ch-Vh- dkuZ D. ch-Vh- jkbl 
     
 Which was the first genetically modified crop of India ? 
 A. Bt Cotton B. Bt Brinjal 
 C. Bt Corn D. Bt Rice 
     

84. HksM+k?kkV ty izikr fdl jkT; esa gS& 
  
 A. e/;izns’k B. jktLFkku 
 C. NRrhlx<+ D. xqtjkr 
     
 Bheraghat waterfall is in which state ? 
 A. Madhya Pradesh B. Rajasthan 
 C. Chhattisgarh D. Gujarat 
     

85. vksjhxkeh fdl dh dyk gS& 
  
 A. iq"i lTtk B. dkxt dks eksM+us dh dyk 
 C. fp=dyk D. phuh feV~Vh ds crZu cukus 

dh dyk 
 Origami is an art of ?  
 A. Flower decoration B. Folding Paper 
 C. Painting D. Pottery Making 
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86. leprqHkZqt dh fdruh lkbM gksrh gS& 
 A. 6 B. 7 
 C. 8 D. 4 
     
 many side does a rhombus have ? 
 C. 6 B. 7 
 A. 8 D. 4 
     

87. buesa ls dkSu&lk izk.kh Lruik;h gS& 
  
 A. 'kkdZ B. Ogsy 
 C. dNqvk D. exjePN 
     
 Which of the following is a mammal ? 
 A. Shark B. Whale 
 C. Turtle D. Crocodile 
     

88. fijkfeM dgk¡ ik, tkrs gSa& 
  
 A. Hkkjr B. Jhyadk 
 C. felz D. phu 
     
 Pyramids are found in ? 
 C. India D. Sri Lanka 
 A. Egypt B. China 
     

89. ;wdsfyifVl dk o{̀k dgk dk ewy fuoklh gS& 
  
 A. mRrj vesfjdk B. ;wjksi 
 C. nf{k.k vesfjdk D. vkWLVªsfy;k 
     
 Eucalyptus tree is a native of ? 
 A. North America B. Europe 
 C. South America  D. Australia 
     

90. isuhflyhu dk vkfo"dkj fdl oSKkfud us fd;k& 
  
 A. vysDtsUMj ¶ysfeax B. yqbZ ikLpj 
 C. okVlu rFkk fØd D. tsuj 
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 Penicillin was invented by ?  
 A. Alexander Fleming B. Louis Pasteur 
 C. Watson and Crick D. Jenner 
     

91. osclkbV [kksyus ds ckn osc czkmtj }kjk iznf’kZr igys i`"B dks D;k dgrs gSa& 
  
 A. gkse ist B. czkmtj ist 
 C. lpZ ist D. cqd ekdZ 
     
 After opening the website the first page opened by the web browser is called ?  
  
 A. Homepage B. Browser page 
 C. Search page D. Bookmark 
     

92. Js.kh dks iwjk dhft, POQ, SRT, VUW, ……….& 
 A. xyz B. xzy 
 C. yxz D. yzx 
     
 Complete the series POQ, SRT, UVW, …….. 
 A. XYZ B. XZY 
 C. YXZ D. YZX 
     

93. fuEu esa ls dkSu jklk;fud ÅtkZ dh fo|qr ÅtkZ esa ifjofrZr djrk gS& 
  
 A. Mk;useks B. ghVj 
 C. fo|qr eksVj D. cSVjh 
     
 Which of the following converts chemical energy to electrical energy ? 
 A. Dynamo B. Heater 
 C. Electric Motor D. Bettery 
     

94. xktj ,d izdkj ls D;k gS& 
  
 A. tM+ B. ruk 
 C. iq"i D. çdUn 
     
 Carrot is a ?  
 A. Root B. Stem 
 C. Flower D. Rhizome 
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95. fuEufyf[kr esa ySfDVd vEy fdl esa ik;k tkrk gS& 
  
 A. lsc B. ngh 
 C. ikyd D. vk¡oyk 
 Which of the following is a source if lactic acid ? 
 A. Apple B. Curd 
 C. Spinach D. Amla 
     

96. िनàन मɄ से Ǒकसे अतं:İावी तंğ का माèटर Êलɇड कहा जाता है - 
  
 A. ih;w"k xzfUFk B. v.Mk’k; 
 C. vXuk’k; D. FkkbjkbM 
     
 Whichof the fol lowing is knownas theMaster Glandof theendocrinesystem              ? 

 A. Pituitary gland B. Ovary 
 C. Pancreas D. Thyroid 
     

97. fuEu esa ls D;k eYVh;wtj Vkbe 'ks;fjax vkWijsfVax flLVe gS& 
  
 A. tkok B. ;wfuDl@foaMkst 
 C. ,e,l vkWfQl D. vksjsdy 
     
 Which of the following is a multiuser time sharing operating system ? 
 A. Java B. UNIX / Windows 
 C. MS Office D. Oracle 
     

98. iBu&ikBu esa Nk=ksa dh vf/kdre lgHkkfxrk laHko gS& 
  
 A. ikB~; iqLrd fof/k ls B. J`O;&ǹ’; lgk;rk ls 
 C. fopkj foe’kZ fof/k ls D. O;k[;ku fof/k ls 
     
 The maximum participation of students in teaching & learning process is possible in ? 
 A. Textbook method B. by Audio Visual aids 
 C. by Consultation and 

discussion 
D. Lecture method 
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99. ekdZ tdsjcxZ fdl ds laLFkkid gSa& 
  
 A. vestku B. fjyk;Ul 
 C. Qslcqd D. fodhihfM;k 
     
 Mark Zuckerberg is the founder of ? 
 A. Amazon B. Reliance 
 C. Facebook D. Wikipedia 
     

100. nqX/k mRiknu ds ekeys esa Hkkjr dk fo’o esa dkSu&lk LFkku gS& 
  
 A. igyk B. nwljk 
 C. rhljk D. pkSFkk 
     
 India holds which position in worlds Milk Production ?  
  
 A. First B. Second 
 C. Third D. Fourth 

 


